

Characters of the Solutions to a Generalized Nonlinear Max-type Difference Equation

SHI Qi-hong, SU Xing, YUAN Guo-qiang, XIAO Qian

(Department of Basic Courses, Hebei Finance University, Baoding 071051, China)

Abstract: This paper is concerned with the boundedness and asymptotic behavior of positive solutions for a generalized difference equation arising from automatic control theory. The main results improve and extend the ones in the previous works to a large extent. One in particular is that Rouché's theorem is available to prove the convergence of solutions.

Key words: nonlinear; max-type; boundedness; asymptotic behavior

2000 MR Subject Classification: 39A10, 39A12

CLC number: O175.2 **Document code:** A

Article ID: 1002-0462(2013)02-0284-06

§1. Introduction

As a discrete analogue of differential or delay differential equation, difference equation arises naturally in various scientific branches^[1-5]. Recently the so-called max-type difference equation has been receiving great attention(see [6-12]). Many particular works have been previously finished, mostly by Stević and his collaborators. One can refer to [7, 8, 12-14, 17-18], as well as the references therein. The present problem is about the boundedness and behavior of positive solutions for a generalized max-type difference equation from automatic control theory [2, 15-16]. As we all know, this is an important issue since it is a basic precondition for the establishment of stability or periodicity of all solutions to the equation.

As a generalized equation and a continuation of previous work, in [12] they proposed the necessity of investigating a new research direction

$$x_{n+1} = \max\left\{A, \frac{x_n^p}{x_{n-k}^q x_{n-m}^r}\right\}, \quad n \in \mathbb{N}_+. \quad (1.1)$$

Received date: 2011-12-26

Foundation item: Supported by the NSF of Universities in Hebei Province(Z2011111); Supported by the Foundation of General Demonstration Course

Biography: SHI Qi-hong(1984-), male, native of Tianshui, Gansu, a lecturer of Hebei Finance University, M.S.D., engaged in difference equation and partial differential equations.

Indeed the behavior of Eq (1.1) is very complicated. Here, as a primary extension, we study the positive solutions to a special case of Eq (1.1) as follow

$$x_{n+1} = \max\{A, \frac{x_n^p}{x_{n-1}^q x_{n-k}^r}\}, \quad n \in \mathbb{N}_k, \quad (1.2)$$

where $k \geq 2$ and A, p, q, r are positive numbers.

§2. Boundedness of Solutions

In this section, we investigate the boundedness character of the positive solutions to Eq (1.2).

Theorem 2.1 Assume that $p \leq 1 + q + r$. If $1 < q < p^2 < 4q$ or $\frac{p+\sqrt{p^2-4q}}{2} > 1$, then all positive solutions to Eq (1.2) are bounded.

Proof Remark Eq (1.2) as the following form

$$x_{n+1} = \max\{A, \frac{x_n^p}{x_{n-1}^q x_{n-k}^r}\} = \max\{A, \frac{x_n^p}{x_{n-1}^q x_{n-2}^0 \cdots x_{n-k}^r}\}. \quad (2.1)$$

By the definition of x_n produced by Eq (1.2), we can deduce

$$(2.1) = \max\{A, \frac{A^p}{x_{n-1}^q x_{n-2}^0 \cdots x_{n-k}^r}, \frac{x_{n-1}^{p^2-q}}{x_{n-2}^{qp} x_{n-3}^0 \cdots x_{n-k}^r x_{n-k-1}^{rp}}\}, \quad n > k+1, \quad (2.2)$$

we can see that if $p^2 < q$, then from (2.2) it yields

$$x_{n+1} = \max\{A, \frac{A^p}{A^{q+r}}, \frac{1}{A^{r+q+pq+rq-p^2}}\}, \quad (2.3)$$

which implies the boundedness of solutions in this case.

Now assume that $p^2 > q$. From (2.2), by continuing with iterations, we have

$$\begin{aligned} x_{n+1} &= \max\{A, \frac{A^p}{x_{n-1}^q x_{n-k}^r}, \frac{x_{n-1}^{p^2-q}}{x_{n-2}^{qp} x_{n-k}^r x_{n-k-1}^{rp}}\} \\ &= \max\{A, \{\frac{A}{x_{n-1}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}}}\}^p, \{\frac{x_{n-1}^{p-\frac{q}{p}}}{x_{n-2}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}} x_{n-k-1}^{\frac{r}{p}}}\}^p\} \\ &= \max\{A, \{\frac{A}{x_{n-1}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}}}\}^p, ((\frac{x_{n-1}}{x_{n-2}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}} x_{n-k-1}^{\frac{r}{p}}})^{p-\frac{q}{p}})^p\} \\ &= \cdots \\ &= \max\{A, (\frac{A}{x_{n-1}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}}}, (\cdots, (\frac{x_{n-l}}{x_{n-l-1}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}} x_{n-k-1}^{\frac{r}{p}}})^{p-a_l} \cdots)^{p-\frac{q}{p}})^p\} \\ &= \max\{A, (\cdots, (\frac{A}{x_{n-l-1}^{\frac{q}{p}} x_{n-k}^{\frac{r}{p}} x_{n-k-1}^{\frac{r}{p}}})^{p-a_{l+1}} \cdots)^{p-\frac{q}{p}})^p\}, \end{aligned} \quad (2.4)$$

here $a_{l+1} = q/(p - a_l)$ with $a_0 = 0$ and $a_1 = q/p$.

Since $p^2 > q$, we have

$$0 = a_0 < a_1 = q/p < a_2 = q/(p - q/p). \quad (2.5)$$

By mathematical induction, it is easy to deduce

$$a_l < a_{l+1}, \quad (2.6)$$

which implies that the sequence $\{a_l\}$ is strictly increasing.

In what follows, we prove the sequence $\{a_l\}$ is bounded. Remark that the polynomial

$$P(\lambda) = \lambda(p - \lambda) - q. \quad (2.7)$$

If the condition $1 < q < p^2 < 4q$ or $\frac{p + \sqrt{p^2 - 4q}}{2} > 1$ holds, which implies that the modulus of complex or real root is greater than one, then from this it follows that $\{a_l\}$ is unbounded. Hence there is the least $l_0 \in \mathbb{N}$ such that $a_{l_0} < p$ and $a_{l_0+1} \geq p$. Using this fact and (2.4) with $l = l_0 + 1$, it follows that

$$\begin{aligned} x_{n+1} &= \max\left\{A, \left(\cdots, \left(\frac{A}{x_{n-l-1}^{q/p-a_l} \cdots x_{n-l-k}^{r/p-a_l}}, \frac{x_{n-l-1}^{(p-a_{l+1})}}{x_{n-l-2}^q \cdots x_{n-l-k}^{r/p-a_l} x_{n-l-k-1}^r}\right)^{p-a_l} \cdots\right)^{p-\frac{q}{p}}\right\}^p \\ &= \max\left\{A, \left(\cdots, \left(\frac{A}{A^{q/p-a_{l_0}} \cdots A^{r/p-a_{l_0}}}, \frac{1}{A^{(a_{l_0+1}-p)} A^q \cdots A^{r/p-a_{l_0}} A^r}\right)^{p-a_{l_0}} \cdots\right)^{p-\frac{q}{p}}\right\}^p, \end{aligned} \quad (2.8)$$

from which the boundedness of the sequence x_n yields, as desired.

§3. Behavior of Solutions

In this section we consider the asymptotic behavior of the positive solution of (1.2). Without loss of generality, first considering the difference equation

$$x_{n+1} = \max\left\{1, \frac{x_n^p}{x_{n-1}^q x_{n-k}^r}\right\}, \quad n \in \mathbb{N}_\neq, \quad (3.1)$$

with positive initial data $x_0, x_{-1}, \dots, x_{-k}$ and $A = 1$.

Obviously, by the change $x_n = B^{y_n}$ with $B > 1$, Eq (3.1) is transformed into the following difference equation

$$y_{n+1} = \max\{0, py_n - qy_{n-1} - ry_{n-k}\}. \quad (3.2)$$

which implies that $y_n \geq 0$ for $n \in \mathbb{N}$, $n > k$. From here we can obtain a set of initial data y_0, y_{-1}, \dots , and y_{-k} . Furthermore, by iterating this step, we can get a set of positive data y_{k+1}, y_k, \dots , and y_1 . To this end, we have the following result in this case.

Theorem 3.1 Let $\{x_n\}$ be a solution of Eq (3.1). Assume $p \leq 1$ holds. Then $\{x_n\}$ converges to $x^* = 1$.

Proof It is clear that the new set of data y_{k+1}, y_k, \dots , and y_1 produced by iteration of Eq (3.2) are nonnegative.

If $py_{k+1} - qy_k - ry_1 \leq 0$, then we have $y_{k+2} = 0$. Furtherly, $y_{k+3} = \max\{0, py_{k+2} - qy_{k+1} - ry_3\} = \max\{0, -qy_{k+1} - ry_3\} = 0$ and $y_{k+4} = \max\{0, py_{k+3} - qy_{k+2} - ry_4\} = \max\{0, -ry_4\} = 0$. Iterate the procedure, we have $y_n = 0$ for $n > k + 1$.

Otherwise, if $py_{k+1} - qy_k - ry_1 > 0$, at this moment, we have

$$y_{k+2} = \max\{0, py_{k+1} - qy_k - ry_1\} = py_{k+1} - qy_k - ry_1. \quad (3.3)$$

Namely,

$$y_{k+2} + qy_k + ry_1 = py_{k+1}. \quad (3.4)$$

Therefore, $y_{k+2} \leq py_{k+1}$. Since $p \leq 1$, it follows $y_{k+2} \leq y_{k+1}$. Iterating this step, if there exists a $N > k + 2$ such that $py_N - qy_{N-1} - ry_{N-k} \leq 0$, then it will become the first case which implies the convergence of solutions. If not like this case, for any $n > k + 1$, $py_n - qy_n - ry_{n-k} > 0$. From this it follows $y_{n+1} \leq py_n \leq y_n$ with the assumption $p \leq 1$. Indeed we obtain a monotone decreasing sequence $\{y_n\}$ with $n > k + 1$. Due to the positivity of $\{y_n\}$, we can deduce there exists a limit denoted by y^* such that $\lim_{n \rightarrow \infty} y_n = y^*$. Since $1 + q + r > 1 \geq p$, it follows $y^* = 0$ from the equality (3.4). All arguments above with the help of the change $x_n = B^{y_n}$ with $B > 1$ conclude our proof.

Next we consider the case of $A > 1$. The change $x_n = A^{y_n}$ carries Eq (3.1) into the difference equation

$$y_{n+1} = \max\{1, py_n - qy_{n-1} - ry_{n-k}\}.$$

which implies that $y_{n+1} \geq 1$ for $n > k$. Moreover, we can rewrite it to the following form

$$y_{n+1} - 1 = \max\{0, py_n - qy_{n-1} - ry_{n-k} - 1\},$$

which is almost the same sequence with Eq (3.2). Therefore we have the following corollary by the similar arguments in Theorem 3.1.

Corollary 3.1 Let $\{x_n\}$ be a solution of Eq (1.2). Assume $p \leq 1$, then $\{x_n\}$ converges to $x^* = A$. In addition, if $p - q - r > 1$, and initial data $x_{-k}, \dots, x_{-1}, x_0$ are not greater than x_0 , and at least one data is greater than one, the solution $\{x_n\}$ is a divergent sequence.

Finally we consider the case of $A < 1$. At this moment, the same change $x_n = A^{y_n}$ yields the following equation

$$y_{n+1} = \min\{1, py_n - qy_{n-1} - ry_{n-k}\}, \quad (3.5)$$

which implies $0 \leq y_{n+1} \leq 1$ for $n > k$. By Rouché's theorem, we can obtain the following result.

Theorem 3.2 Let $\{x_n\}$ be a solution of Eq (1.2). If one of the following assumptions (i) $p - q - r \geq 1$; (ii) $\max\{p, q, r\} \leq \frac{1}{3}$ holds. Then $\{x_n\}$ converges to $x^* = A$.

Proof If there exists $N \in \mathbb{N}$, $N > k$ such that $py_N - qy_{N-1} - ry_{N-k} \geq 1$, then from (3.5) we have $y_{N+1} = 1$. Moreover, it can be derived $p - q - r \leq y_{N+2} \leq p$. According the hypothesis condition, (i) and Eq (3.5), it follows $1 \leq p - q - r \leq y_{N+2} \leq p$ which implies $y_{N+2} = 1$. By iterating this process, we have $y_n = 1$ for $n > N$, which yields the convergence of solution $\{x_n\}$ with the help of the change above.

Otherwise, for any $n \in \mathbb{N}$, if $py_n - qy_{n-1} - ry_{n-k} < 1$, then we have

$$y_{n+1} = py_n - qy_{n-1} - ry_{n-k}. \quad (3.6)$$

The characteristic polynomial associated with Eq (3.6) is

$$P(\lambda) = \lambda^{k+1} - p\lambda^k + q\lambda^{k-1} + r. \quad (3.7)$$

Let $f(z) = z^{k+1}$ and $g(z) = pz^k - qz^{k-1} - r$. Note that the condition $\max\{p, q, r\} \leq \frac{1}{3}$, we have that on the unit circle $|z| = 1$,

$$\begin{aligned} |g(z)| &\leq |pz^k - qz^{k-1} - r| \\ &\leq \max\{p, q, r\}(|z|^k + |z|^{k-1} + 1) \\ &\leq 3\max\{p, q, r\} \leq 1 = |z|^{k+1} = |f(z)|. \end{aligned} \quad (3.8)$$

By Rouché's theorem it follows that the polynomials $f(z)$ and $f(z) - g(z)$ have the same number of zeroes in the unit disk $|z| < 1$. Since $f(z)$ has $k+1$ zeroes in the unit disk, it follows that the polynomial $f(z) - g(z) = z^{k+1} - pz^k + qz^{k-1} + r$ has also $k+1$ zeroes in the unit disk.

Let $\lambda_1, \dots, \lambda_u$ ($u \leq k-1$) be different zeroes of the polynomial $f - g$, with the multiplicities v_j , $j = 1, \dots, u$. Then

$$y_{n+1} = \sum_{j=1}^u F_j(n) \lambda_j^n, \quad (3.9)$$

for some polynomials F_j , $j = 1, \dots, u$. Clearly y_{n+1} converges, which along with the change $x_n = A^{y_n}$ implies that the sequences $\{x_n\}$ converge too, denoted by x^* . From Eq (3.6) and the hypothesis condition we have $x^* = A$.

Remark The hypothesis conditions (ii) in Theorem 3 can be further rewritten into much precise and exact ones. Namely, (iii) $\max\{q, r\} \leq \frac{1-p}{2}$ for $p \leq 1$ or (iv) $\max\{p, r\} \leq \frac{1-q}{2}$ for $q \leq 1$ or (v) $\max\{p, q\} \leq \frac{1-r}{2}$ for $r \leq 1$. Indeed if let $f(z) = z^{k+1} - pz^k$ and $g(z) = qz^{k-1} + r$ or $f(z) = z^{k+1} + qz^{k-1}$ and $g(z) = pz^k - r$ or $f(z) = z^{k+1} + r$ and $g(z) = pz^k - qz^{k-1}$, respectively. The same analysis approach is applied to the assumption (iii), (iv) and (v), which follows our claim.

Acknowledgements The authors would like to thank the reviewers for their comments, and wish to express their deep gratitude to Prof Shu Wang and Prof Yong Li for their valuable advice and constant encouragement for this work.

[References]

- [1] POPOV E P. Automatic Regulation and Control(in Russian)[M]. Moscow: Nauka, 1966.
- [2] DE LA SEN M, ALONSO-QUESADA S. A control theory point of view on Beverton-Holt equation in population dynamics and some of its generalizations[J]. Appl Math Comput, 2008, 1992: 464-481.
- [3] PIELOU E C. Population and Community Ecology[M]. New York: Gordon and Breach Science Publishers, 1974.
- [4] XIAO Qian, SHI Qi-hong. Qualitative behavior of a rational difference equation[J]. Adv Diff Equ, 2011 2011: 6.
- [5] SHI Qi-hong, XIAO Qian, YUAN Guo-qiang, et al. Dynamic behavior of a nonlinear rational difference equation and generalization[J]. Adv Diff Equ, 2011 2011: 36.
- [6] LADAS G. On the recursive sequence $x_n = \max\{\frac{x_1}{x_{n-1}}, \frac{x_2}{x_{n-2}}, \dots, \frac{x_p}{x_{n-p}}\}$, open problems and conjectures[J]. Difference Equ Appl, 1996, 2: 339-341.
- [7] STEVIĆ S. On the recursive sequence $x_{n+1} = \max\{c, \frac{x_n^p}{x_{n-1}^p}\}$ [J]. Applied Mathematics Letters, 2008, 21(8): 791-796.
- [8] STEVIĆ S. On a nonlinear generalized max-type difference equation[J] Math Anal Appl, 2011, 376: 317-328.
- [9] KENT C M, RADIN M A. On the boundedness nature of positive solutions of the difference equation $x_{n+1} = \max\{\frac{A_n}{x_n}, \frac{B_n}{x_{n-1}}\}$ with periodic parameters[J]. Dyn Contin Discrete Impuls Syst Appl Algorithms Suppl, 2003: 11-15.
- [10] PATULA W T, VOULOV H D. On a max type recurrence relation with periodic coefficients[J]. Diff Equ Appl, 2004, 10(3): 329-338.
- [11] MISHEV D, PATULA W T, VOULOV H D. A reciprocal difference equation with maximum[J]. Comput Math Appl, 2002, 43: 1021-1026.
- [12] STEVIĆ S. On a generalized max-type difference equation from automatic control theory[J]. Nonlinear Analysis, 2010, 72: 1841-1849.
- [13] STEVIĆ S. Some open problems and conjectures on difference equations[J]. http://www.mi.sanu.ac.yu/coll-ouquims/mathcoll/programs/mathcoll_apr2004.htm.
- [14] STEVIĆ S. Boundedness character of a class of difference equations[J]. Nonlinear Analysis, 2009, 70: 839-848.
- [15] BEREZANSKY L, BRAVERMAN E, LIZ E. Sufficient conditions for the global stability of nonautonomous higher order difference equations[J]. Diff Equ Appl, 2005, 11(9): 785-798.
- [16] GROVE E A, LADAS G. Periodicities in Nonlinear Difference Equations[M]. Florida: Chapman Hall(a CRC Press), 2005.
- [17] MISHKIS A D. On some problems of the theory of differential equations with deviating argument[J]. Uspekhi Mat Nauk, 1977, 32(2): 173-202.
- [18] YANG Y, YANG X. On the difference equation $x_{n+1} = \frac{px_{n-s} + x_{n-t}}{qx_{n-s} + x_{n-t}}$ [J]. Appl Math Comput, 2008, 203(2): 903-907.